
 
Latest Revision: 11/4/2019 

For questions or help with the installation, please call SDHQ Offroad @ 480-633-2929  
Mon.–Fri. 8:00am–5:30pm and Sat. 8:00am–3:30pm Arizona Time. www.sdhqoffroad.com  

Page 1 of 5 

 
 

Product Packing List 
Product:    SDHQ-00-1810-U1 
Description:  SDHQ Built in Bed Rack Tie Down Kit 
 

  (2) Tie Downs         SDHQ-00-1810-U1-A 
  (1) Hardware Package      SDHQ-00-1810-U1-B 
   (4) 5/16” – 18 x ¾” Grade 8 Hex Bolt 
   (8) 5/16” Grade 8 Washers 
   (4) 5/16” – 18 Grade 8 Lock Nut 

 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
Inspected and Packaged By:        Date:      



 

For questions or help with the installation, please call SDHQ Offroad @ 480-633-2929  
Mon.–Fri. 8:00am–5:30pm and Sat. 8:00am–3:30pm Arizona Time. www.sdhqoffroad.com  

Page 2 of 5 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 



 

For questions or help with the installation, please call SDHQ Offroad @ 480-633-2929  
Mon.–Fri. 8:00am–5:30pm and Sat. 8:00am–3:30pm Arizona Time. www.sdhqoffroad.com  

Page 3 of 5 

 

INSTALLATION INSTRUCTIONS 
Product:    SDHQ-00-1810-U1 
Description:  SDHQ Built in Bed Rack Tie Down Kit 

 

Tech Notes 
 Approx. Install Time: 30 Minutes 

Parts List Hardware List Required Tools 
(2) Tie Downs 
      SDHQ-00-1810-U1-A 
(1) Hardware Package 
      SDHQ-00-1810-U1-B 

(4) 5/16” – 18 x ¾” Grade 8 Hex Head Bolt 
(8) 5/16” Grade 8 Washer 

(4) 5/16” – 18 Grade 8 Lock Nut 

½” Socket 
Ratchet 

½” Wrench 



 

For questions or help with the installation, please call SDHQ Offroad @ 480-633-2929  
Mon.–Fri. 8:00am–5:30pm and Sat. 8:00am–3:30pm Arizona Time. www.sdhqoffroad.com  

Page 4 of 5 

 
 

***READ ALL INSTRUCTIONS THOROUGHLY FROM START TO FINISH BEFORE BEGINNING INSTALLATION! *** 
 

Installation Instructions: 
 

1. Unbox your SDHQ Built in Bed Rack Tie Down Kit and check over all parts. Familiarize 
yourself with the parts and diagrams.  
 

2. Remove your Bed Rack if it is installed in your truck, unless the planned locations of the tie 
downs are easily accessible.  
  

3. Place the Tie Down in the location of your choice. Insert and tighten the 5/16” hardware to 
secure the Tie Down to the Bed Rack. 

 

 
 

4. Repeat Step 3 for the other Tie Down. Install your Bed Rack if it was removed in Step 2. 
 

5. Install Complete! Be sure to properly secure down accessories. Enjoy your SDHQ Built in Bed 
Rack Tie Downs! 

  
 



 

For questions or help with the installation, please call SDHQ Offroad @ 480-633-2929  
Mon.–Fri. 8:00am–5:30pm and Sat. 8:00am–3:30pm Arizona Time. www.sdhqoffroad.com  

Page 5 of 5 

 
 

***Double check all hardware is installed correctly and tight*** 
 

***Re-torque ALL bolts after 100 miles*** 
 
 
 

 
 
 
 

 
190 S McQueen Rd 

Ste 109 Gilbert, AZ 85233 
Phone: 480-633-2929 | Fax: 480-633-1791 

www.sdhqoffroad.com 
 
 
 

Follow us on: 

 Facebook   Instagram 
 
 

http://www.sdhqoffroad.com/

